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QUESTION 1

You want to start the ASM1 instance on node host01. Which three options can you use? 

A. $ srvct1 start asm -n host01 

B. $ srvct1 status asm -n host01 

C. $ asmca Disk Groups - > Mount All 

D. $ . oraenv 

ORACLE_SID = (+ASM1) ? +ASM1The Oracle base for ORACLE_HOME=/u01/app/12.1.0/grid is /u01/app/grid 

S asmcmd 

ASMCMD (+) > shutdown -abort 

E. $ . oraenv 

ORACLE_SID = (+ASM1) ? +ASM1The Oracle base for ORACLE_HOME=/u01/app/12.1.0/grid is /u01/app/grid 

S asmcmd 

ASMCMD> startup 

F. $ export ORACLE_SID =+ASM1$ export ORACLE_HOME=/u01/app/12.1.0/grid 

$ $ORACLE_HOME/bin/squiplus/AS SYSASM

SQL> startup 

Correct Answer: AEF 

 

QUESTION 2

Which statement about Allocation Units is incorrect? 

A. Every Oracle ASM disk is divided into allocation units (AUs) 

B. An AU is the fundamental unit of allocation within a disk group 

C. A file extent consists of one or more AUs 

D. The au size disk group attribute can have the following values; 1, 8, 16, 32, 64, or 128 MB. 

Correct Answer: D 

 

QUESTION 3

You have completed a rolling conversion from DNS to GNS cluster resolution from the database and cluster resources
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end. The remaining are the configuration changes to be done from the client side. Which two items need to be taken
into account to achieve a successful connection? 

A. For each client using a SCAN, change the SCAN the client uses so that the client uses the SCAN in the domain
delegated to GNS 

B. For each client using VIP names, change the VIP name on each client so that they use the same server VIP name,
but with the domain name in the domain delegated to GNS. 

C. There is no need to change anything in client configuration as the combination of TAF and ONS will automatically
take care of reaching the correct nodes 

D. All the nodes in the cluster need to be bounced one after the other in order for the changes to be completed as it is
not possible to do it online 

Correct Answer: AB 

 

QUESTION 4

Which command can be used to create an Oracle ACFS file system resource? 

A. crsct1 create resource -t filesystem -f /dev/asm/ -m / 

B. srvct1 add filesystem -m / -d /dev/asm/ 

C. asmcmd fscreate - - resource ACFS mount / -- file/dev/asm/ 

D. srvct1 create resource -fs/dev/asm/ -mount / 

E. SQL > alter system add filesystemdevice = `/dev/asm/\\'mount_dir = `/\\'; 

Correct Answer: B 

 

QUESTION 5

You are talking to the network admin team about the Interconnect network in Oracle RAC and Clusterware. Which
statement about the Private interconnect interface is incorrect? 

A. Oracle RAC and Oracle ASM instances use the private interconnect for inter-instance communication. 

B. Oracle Clusterware uses the private interconnect to exchange Clusterware-related messages among its nodes. 

C. It supports both IPv4 and IPv6. 

D. It supports redundant network interfaces for load balancing and high availability. 

Correct Answer: C 
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